W

Bind Screw (M2.0x6/10pcs) 1-502006

KT-531P Transmitter 82005

o\

Receiver Box Set MX001

Axle Case Set MX004

Suspension Parts Set MX007

Bumper Parts Set MX011

b
«©

Slipper Clutch Set MX015

DISCONTINUED

\%&

Suspension Pin & Set Screw MX019

Servo Motor & Potentiometer (Mini-Z
4X4) MX021B

Premounted Tire/Wheel 2pcs INTERCO
TIRE MXTHOO3B

TP Bind Screw (M2.0x6/10pcs) 1-
S02006TP

SUS Shield Bearing(5x8x2.5) 2Pcs
BRGO0O25US

DISCONTINUED

Axle Parts Set MX002

DISCONTINUED

Drive Gear Set MX005

v,

N

Battery Box Set MX008

Main Frame MX012

- T
O

Motor (MINI-Z 4x4) MX016

-

Suspension Pin & 5et Screw MX019B

Jeep® Wrangler Unlimited Rubicon w/

acc. Billet Silver Metallic MXB0OS8S

Color Nylon Nut Black MZW13BK

TP Bind Screw (M2.0x8/10pcs) 1-
S02008TP

Shield Bearing(3x6x2.5) 2Pcs BRGOO7

Axle Parts Set MX002B

oo

Drive Gear Set MX005B

Servo Gear Set MX009

L

o
o

Slipper Shaft Set MX013

%

Tie Rod Set MX017

RC Unit (MINI-Z 4x4/RA-46) MX020

Premounted Tire/Wheel2pcs Toyota

ARunner MXTHOO1

DISCONTINUED

TP Bind Screw (M2.0x10/10pcs) 1-
502010TP

Shield Bearing(6x10x3)2Pcs BRG022

7 /s

Shock Parts Set MX003

s’é@

Gear Box Parts Set MX006

Servo Saver Set MX010

2
L

Axle Gear Set MX014

4
:,’

Ball Stud Set MX018

Servo Motor & Potentiometer
MX021

DIS - MXTHOO3B Premounted Tire/
Wheel 2pcs INTERCO TIRE MXTHOO03



